RE7AN B BE-2 POERE o1

RD Zo0 k. (Sitk25, A0, Bik15730%, C#h2740% )
1 1= @ (2) 1 = i
3) 1#¥= 9 4) 19 = HRF ]
(5) 24730F = 1@ (6) 1409 = 5y
(1) 1093 = [RF (8) 248 = vl
9) 1593 = IRE (10)  52% = vl
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RD DK (S0, A0, BRk15 508, C#347)

1) 27 = 7 (2)  5IRH] = I

(3) 20 = i (4) 447 = IR ]

(5) 347208 = » (6) 128497 = 5y
(1) 1247 = IRt (8) 45F = i

9) 204 = IR ] (10) 358 = s
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R#HTFAS B FE-9- -POER 01 BERHR

RD DX (SH25F, Af40F, B 13 30, CH24 40 )
(1) 14r=| 60 |® (2) 1WH =1 60 |4
1 1
h — IR VAN VAN 4 1
3 1# a0 |7 4) 1% 50 ]
(5) 27308 =| 150 (B (6) 1Wff40%r = | 100 |%
60 x 2+ 30 = 150 60 x 1 + 40 = 100
(7) 104y = % FF 8) 24 = % 5y
10 _ 1 24 _ 2
60 6 60 5
9 154 = L |msw 100 se@m=| 13 |4
4 15
1 52 _ 13
60 4 60 15
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RD DK (S0, A0, BRk15 508, C#347)

(1) 2%4r=| 120 |® (2) 5 = 300 |&
60 x 2 = 120 60 x 5 = 300
1 1
B — IR S AN VAN 1 ]
(3) 2of 30 |7 4) 4% i R[]
2 _ 1 4 1
60 30 60 15
(5) 377208 =1| 200 (B (6) 11284y =| 88 |4
60 x 3 + 20 = 200 60 x 1+ 28 = 88
(1) 1245 = % FE3 ] (8) 457 — % 5
12 1 45 _ 3
60 5 60 4
9) 204y = | L | (10) 35F=| - |4
3 12
20 _ 1 3 _ 7
60 3 60 12
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